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Less than the value of a mvInp — VYD MR NITD

OVERVIEW

The X713 explained that the handiwork of the 72y does not become wpH
because he works each time for the value of less than a 71179 (which cannot
become w7pn [according to >"wA]). The 72y can pay off his loan piecemeal.
mpoIn disagrees with *"w7°d and offers an alternate explanation.

— 110199 MIYN TN Y YN YIPN PRT DIVNPA Y9
>'"w9 explains that w7p77 cannot take effect on anything which is less than

the value of a w95, Therefore the handiwork of the 72y (which is less than a mw
710179, each time he works) does not become w71,

mooIn disagrees with >"w7:
- z)ﬂ VI VNN (x,n1 97 xween xa3) ANTHA PNT 1‘,71'\8’ 19929 VPN

And the "9 asked on >"w1», for he have learnt in a mwn» in 2717 PO,

‘There are five n1¥192’; however according to >"wA here -
— 110119 MYUN MND Y¥ 9N WINPT MO YUY 1Y

The mwn should teach ‘there are six nmwylp, since (according to ")

wepPn cannot take effect on a 7wINp MW» NS, Since the mwn only mentions
five this proves that w7pn is 217 on a 0D MWH NIND.

modon offers his explanation why the 17 7wyn of the 72y does not become w7p:
— NAYL 1321 NINT PN 1)°29 99IN)

And the ' explains that here the reason the »7° nwyn do not become wps is

because -
210999 MWN MmN DY MINY WTPN DY INYTA PNRY

It was not the intent of the w>7pn that the wpn of 172y >7° "wyn should
take effect on less than a v1p Mw.

SUMMARY

"n the 2"mn this question is ascribed to the 0"2"1 (°RM 12 prIX® ).

* The nawn there states that regarding five laws the minimum requirement is a 77019, They are 1. The
admission of a n¥pna 77 must be (at least) a v, 2. PYITP requires a AVIND MW, 3. WP 717°YA requires
a e MY (to bring a 127p), 4. 77°AR AW requires a 7vINA MY, and 5. Returning a stolen object requires a
aue M.

? See 1"mn who adds that the master wants that the slave should be able to sustain himself comfortably.
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"W maintains that w7pn is not 71 on a ™w» Mno; while N1B0IN maintains
WP is 11 on a 9" wn Mo unless the wW>7pn has no intent that it should be 5
on a d"\wn Nno.

THINKING IT OVER

mooIn explains that it is not the intent of the w>7pn that the w7pi should be o1
on a " wn nno. However the owner was 71 the hands of his 72 (he was
not ¥>7pn the 7 7wyn of his 72v), so what effect should his intent have;
since the 07> are WP, then whatever he does should become w727 (even if
it is 8™"wn mmo?!?

4 See 1.
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